>
A & 0l & AF 2 E A A
20198 &= =0l & LB A JIEISESIH SHF M
SH: BAEMY
Hu: AEe 2AABAHA M2
el B9z oxZet F (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SAHE MY 55,824,585 57,764,996 A 1,940,411
= 4,652,426
J| 39,668,856
< 11,503,303
22 BAAZ MHIA M3 55,701,521 57,644,809 A 1,943,288
= 4,652,426
J| 39,627,554
< 11,421,541
2oz Eet PH 3,019,601 3,777,828 AT58,227
= 1,859,526
< 1,160,075
2H3M 282 ¢ = 46,400 24,000 22,400
201 2et24d] 35,400 13,000 22,400
01 At 22l 35,400 13,000 22,400
OBHEH IS (LHEUI) 20,000
OPATZ TP NRNS 5,000
OAZM 23 43 24 2 = 5,000
OBHAIM ST RH(2I2tel) &I M= 5,400
202 o4dl 11,000 11,000 0
01 = LH o4 1l 11,000 11,000 0
OEAY P2 =X 11,000
0|2 MEozgey 24 26,000 26,000 0
201 Let24d] 26,000 26,000 0
01 At 22l 26,000 26,000 0
OZBSEHYAMN HARUS 26,000
SHEEHA S A F(21) 2,256,911 3,103,908 A 846,997
= 1,805,526
< 451,385
403 A X EHHS =0l A 2,256,911 3,103,908 A 846,997
= 1,805,526
< 451,385
01 X ESHHMA=2LE L 2,256,911 3,103,908 A 846,997
OsUHEE2HA S 01U AY 2,256,911
= 1,805,526
< 451,385
FHAANES *FER 462,580 391,120 71,460
201 Let24E] 122,500 122,000 500
01 At 22l 2,500 2,000 500
OJAAMUZANAEY KX EF X2 2,500
02 =24l 120,000 120,000 0
ORAAXNZAIAE Rz Y 120,000
307 glz2tol & 180,000 180,000 0




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 180,000 180,000 0
oOsgdaZdaeldH 29 180,000
308 XtXIEHH SOl A 77,280 69, 120 8,160
01 AXHHBILEES 77,280 69, 120 8,160
O=2gHl XN (+2 L J2L428 72¢) 77,280
403 XIS H S0l & 52,800 0 52,800
01 XM A= E L 52,800 0 52,800
Ol AXIJI2 FHl X 52,800
405 RHoHE S HI 30,000 20,000 10,000
01 AL EZFH S 30,000 20,000 10,000
OEQAIAH 2 &X 30,000
SAMBA LoIAA2R 81,910 69,000 12,910
308 X XIEHHSOIA 69,000 69,000 0
01 X HHILEES 69,000 69,000 0
OLQAAZZ s 23l 69,000
403 UHXSHHSA=0l& 12,910 0 12,910
01 XM= LE L 12,910 0 12,910
ONH2EEA FHHEZ 12,910
YR AT BH G 79,800 79,800 0
308 XXM SO0l A 79,800 70,200 9,600
01 HIXNHHBNEES 79,800 70,200 9,600
OEdXNA HALBZZ2]H 29| 79,800
OEHAX A=K AMBEASE(=1) 42,000 9,000 33,000
= 42,000
308 XXIEHH SO0l A 42,000 9,000 33,000
= 42,000
01 AXHHIYEES 42,000 9,000 33,000
O gaI& 24l 42,000
= 42,000
O SFAX AZ XA AEAL(ZD)(HE) 24,000 0 24,000
= 12,000
< 12,000
307 2201 A 24,000 0 24,000
= 12,000
< 12,000
02 It M AHE L 24,000 0 24,000
OZAXIOHHE elAbl 24,000
= 12,000
< 12,000
238 o & 2el 15,555,186 15,919,905 A 364,719




SN BAFYY
PN

HHM: =2 BAHOYZMHIA M2
Sl 2y oy L e CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 277,396
J| 11,056,697
= 4,221,093
RHOH &< ol & 22l 77,603 77,600 3
202 o4 | 7,603 7,600 3
01 2L I 7,603 7,600 3
oYt o 24y WEUAIY =X 7,603
206 M = dl 70,000 70,000 0
01 X2 bl 70,000 70,000 0
oMot rE 2 70,000
289 2D ZHHAFY X& 27,520 34,400 N 6,880
308 AMXIESHMSOIA 27,520 34,400 A6,880
01 AIXSHMENEXZ 27,520 34,400 N6,880
O2E™Y M2 Dl 2H XN 27,520
etelor BfE ALY (=2 D) 58,000 58,000 0
= 58,000
308 XHXIEH SOl A 58,000 58,000 0
= 58,000
01 AIXSHMEMNEX= 58,000 58,000 0
oOZetelor Bt ALY 58,000
= 58,000
st NI & Aojog =& 302,000 302,000 0
307 giztol A 302,000 302,000 0
02 QIZ2FA AAIE E X 12,000 12,000 0
Ot EaAT daMT 12,000
05 QIZ2tRE 2 290,000 290,000 0
ostdlE og 2 = 290,000
st s T2 N9 XXESH 2A4EX(21) 99,112 96, 194 2,918
= 49,556
& 49,556
308 XHXIEHSO|A 99,112 96, 194 2,918
= 49,556
= 49,556
01 AIXSHHEMNEX= 99,112 96, 194 2,918
O MOtetAl ol A AH HI 99,112
= 49,556
o 49,556
ol Hgns & MSAaEHA 29 63,000 63,000 0
307 QI2t0| ™ 63,000 63,000 0
02 Q2B MAIE E =X 63,000 63,000 0
OMol= Hgss & 2ZEol AE 63,000




2N

. Hze BAz HMUlA M3
Sl 2EE oy 2 2l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ool & dgole NAMEZ(22)(HE) 146,598 148,598 A 2,000
J| 73,299
< 73,299
301 gt d= 146,598 148,598 A 2,000
J| 73,299
< 73,299
01 Ml2ZHE 6= 146,598 148,598 A2,000
OHIVZ &2l &=l 146,598
J| 73,299
< 73,299
fol=x & dgoe ANAMEZ(=22) 36,300 36,300 0
J| 36,300
308 XXM SO0 A 36,300 36,300 0
J| 36,300
01 IXNHHBNEES 36,300 36,300 0
onolxs & d80e XA 36,300
J| 36,300
ZEoY & EXIAY 285,186 353,107 A67,921
307 21201 A 190,000 190,000 0
05 RIZt2IEt = 190,000 190,000 0
OZHHEe & NEEE 45,000
oz AE XA 136,000
OJAGARACIANAH 2H 9,000
308 A EHHSOIA 95,186 98,107 A2,921
01 AXNSHBLEES 95,186 98,107 A2,921
OFAANE 2 - sEIEHE OIsSA=ZE 32,200
Ol BHAHE =0|gA A 49,510
OZHei &g & 2elXH 13,476
SZMH 23442 4022 1T 450 450 0
308 XX EHSOIA 450 450 0
02 8+=uT= 450 450 0
oOgZN B33 450
BAL FABAL(RD)(HA) 8,000 9,500 A 1,500
J| 4,000
< 4,000
202 oddl 8,000 9,500 A 1,500
J| 4,000
< 4,000
01 = LH o4 1l 8,000 9,500 A 1,500
oZa el AHE (bl 8,000
J| 4,000
< 4,000




2N
X ZH -
L= B
el

(BN =

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
BALAZHAZ AL (2 D) 650,062 885,972 A 235,910
Il 584,718
< 65,344
308 XXX S0 A 650,062 885,972 A 235,910
J| 584,718
< 65,344
01 AXSHBLEELS 650,062 885,972 A 235,910
OBHA B2 ALY 650,062
| 584,718
< 65,344
o2& ZeEx A XA(=21) 343,700 270,864 72,836
| 343,700
308 XXM S0l A 343,700 270,864 72,836
| 343,700
01 IXNHHBNEES 343,700 270,864 72,836
oz Jl& gk &el k& 343,700
J| 343,700
SIHEES AA(21) 12,729,745 12,817,141 A 87,396
| 9,499,810
< 3,229,935
308 KXIEH SO0l A 12,729,745 12,817,141 A 87,396
| 9,499,810
< 3,229,935
01 AXNSHHEBAMNEES 12,729,745 12,817,141 A 87,396
O0eol HYES 7,331,542
| 5,471,300
= 1,860,242
ONEOIE - XA - =SS ASAUT ol
S 1,355,142
| 1,011,300
< 343,842
odgel HegEs 4,017,735
| 2,998,310
< 1,019,425
OBE 2t F=4tD| ZE Gl ALY 25,326
| 18,900
< 6,426
HEHESSHEH 29(=21) 245,290 240,840 4,450
| 245,290
308 XHX| EHHIS 0 & 245,290 240,840 4,450
J| 245,290
01 AXNSGHBLAEES 245,290 240,840 4,450
oOHLZESEHH 29 XA 245,290
| 245,290
Hellha 2Egati 22Xz A3 (=12) 5,400 5,400 0
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2N
X ZH -
L= B
el

215 33}
=2 PAARHHIA M2
gy oy 2 2ol

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

== 8,500

308 AXISHMSOIH 25,500 25,500 0
Dl 17,000
= 8,500

01 AXHHNBMNEXTS 25,500 25,500 0
OMZEHH S 2= 25,500
J| 17,000
o= 8,500

MEHY OISZAMA 2E XK (21) 11,400 11,400 0
Dl 5,700
& 5,700

402 QI2v X2 0| & 11,400 11,400 0
Dl 5,700
o= 5,700

03 QI2t [ EFALSH B 11,400 11,400 0
OMZHCZ OIZTHAMA 2SS XA 11,400
Dl 5,700
= 5,700

MSHY ZSHSQY HALET? RHXA(2D) 18,180 0 18,180
Jl 12,120
= 6,060

403 XX S S K201 A 18,180 0 18,180
Jl 12,120
= 6,060

01 AXHNMAHEE = 18,180 0 18,180
OMZHI A Ul el 2 X 18,180
Dl 12,120
& 6,060

MEH HH HISOGE XNE 29 (21) 2,560 2,560 0
Jl 2,560

206 X & bl 2,560 2,560 0
Dl 2,560

01 X &2 bl 2,560 2,560 0
OHIESAE XNEHE 29 2,560
Dl 2,560

ZIIXNE UK/ S2HA AIESXH N (=2D) 151,400 160,000 A 8,600
J| 151,400

307 212t0| & 151,400 160,000 A 8,600
Dl 151,400

02 DI2ZHH AAIH E X 151,400 160,000 A 8,600
O=INEUIAXN YA ANERX B4 S 151,400
Dl 151,400

RELYY T2AA MM 2Y(21) 65.000 41,000 24,000
Dl 65,000
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2N
X ZH -
L= B

el

2 EAHA= HMHIA M3
MAzze MHA M3

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

308 X EHSOIA 543,642 470,029 73,613
J| 543,642

01 HIXNHHBHEELS 543,642 470,029 73,613
OXNGALS A2 ZA X 543,642
J| 543,642

KNS A SSALSTAS(FD)(HY) 200,000 201,000 21,000
J| 100,000
< 100,000

201 LBt2E| 5,000 3,000 2,000
J| 2,500
< 2,500

01 At 22l 5,000 3,000 2,000
OosgddsdAY =& 5,000
J| 2,500
< 2,500

202 04 tl 5,000 8,000 A 3,000
J| 2,500
= 2,500

01 = LH 4 Hi 5,000 8,000 A 3,000
OSULSIMNY 2 5,000
J| 2,500
= 2,500

307 glz2+ol & 190,000 190,000 0
J| 95,000
= 95,000

05 212t E = 190,000 190,000 0
OSEAHALSIANY XNJAH 29 190,000
J| 95,000
< 95,000

XSAE SEAYBTAL (D) 5,204,469 5,080,611 123,858
J| 4,337,057
< 867,412

308 MHXIEHMSOIH 5,204,469 5,080,611 123,858
J| 4,337,057
< 867,412

01 AXHHILEES 5,204,469 5,080,611 123,858
OdA SEALSHAY XA 5,204,469
J| 4,337,057
< 867,412

eSS EA LerHAHE XA (21) 331,613 256,917 74,696
J| 294,767
S 36,846

308 AHAIEHHSOIA 331,613 256,917 74,696
J| 294,767
< 36,846
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18,000

152,000

152,000

152,000

50,000

50,000
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2N
X ZH -
L= B

el

d=2 2AASHMHIA M3
sdAZ el AHA M3

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

== 31,000

201 et A | 20,000 20,000 0
Dl 10,000
= 10,000

01 At 22l ] 20,000 20,000 0
OZ29AMNY 89 & == 20,000
J| 10,000
o= 10,000

202 044l 2,000 2,000 0
Dl 1,000
& 1,000

01 2LHA Y] 2,000 2,000 0
O=2L bl 2,000
Dl 1,000
== 1,000

301 LBt A= 40,000 40,000 0
Jl 20,000
= 20,000

12 JEtE &2 40,000 40,000 0
oO=2dH=zEt 29 40,000
J| 20,000
o= 20,000

KA =4 2AHXNRFAHA(Z2D) 3,286,476 3,048,967 237,509
Dl 2,738,730
& 547,746

308 AKX SHHSOIA 3,286,476 3,048,967 237,509
Jl 2,738,730
& 547,746

01 AIXHMBANEXZ 3,286,476 3,048,967 237,509
OXEAMISE 2 HXNJMHHA 3,286,476
Dl 2,738,730
< 547,746

HNAES Z2HXNSXH(=Z1D) 306,714 293,984 12,730
Dl 306,714

403 XX SHHMS K201 A 306,714 293,984 12,730
J| 306,714

02 BI2SHUSA=2EAEAIS Y 306,714 293,984 12,730
OMASE 29XZH |AE 306,714
Jl 306,714

DHY BANOAI (2 D) 111,744 60,567 51,157
Dl 93,120
== 18,624

308 AXISHXMSOoIH 111,744 60,587 51,157
Dl 93,120
= 18,624




2N
X ZH -
L= B

el

T2 ae| MUl

2 EAHA= HMHIA M3
2

M=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 111,744 60,587 51,157
OZ2HY AANAHAY 111,744
J| 93,120
< 18,624
AMEH YR 2H2Ae XA = 26,527,581 27,453,318 N925,737
= 2,391,504
J| 20,069,857
< 4,066,220
FAEAHAY F& 104,820 74,604 30,216
202 044l 7,500 7,500 0
01 = LH o4 1l 7,500 7,500 0
oA &R EHae =40 7,500
303 Z& = 12,000 0 12,000
01 Z2&= 12,000 0 12,000
OXAUE ALY =& A2 LA 12,000
307 glz2tol & 23,400 18,720 4,680
02 It MAHEE 23,400 18,720 4,680
OZJASTZIYFZUAL=EXNHEE SALA HRMA 23,400
308 XXM SO A 61,920 48,384 13,536
01 AXHHIYEES 61,920 48,384 13,536
OFUNUEHANE SAA HRHMA 61,920
FAFMAL=EXNME X (22) 835,500 820,800 14,700
J| 417,750
< 417,750
307 21201 A 835,500 820,800 14,700
J| 417,750
< 417,750
05 BIZHRIE 3 835,500 820,800 14,700
OZId FAUALFXNHE 23 835,500
J| 417,750
< 417,750
I=JAAL=EXNEH X3 (=22) 2,842,080 1,900,800 941,280
J| 2,368,400
< 473,680
308 XX EHSOIA 2,842,080 1,900,800 941,280
J| 2,368,400
< 473,680
01 HIXNSHHBNEES 2,842,080 1,900,800 941,280
OJI=¢d FAAL=EXNHYH 294 2,842,080
J| 2,368,400
< 473,680
Ots&EAE FAUBAMS(Z1) 305,400 270,000 35,400
J| 254,500




SN BAFYY
PN

. Hze BAz HMUlA M3
Sel AEOISN FYe M (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 50,900
308 XXM SO A 305,400 270,000 35,400
J| 254,500
< 50,900
01 IXNHHBNEES 305,400 270,000 35,400
O0ls - 4@ ZNUEAMY X 305,400
J| 254,500
< 50,900
EsoSEXNJHEH XN (=212) 283,834 279,000 4,834
= 236,530
=3 47,304
308 XtXIEHH SOl A 283,834 279,000 4,834
= 236,530
< 47,304
01 AXHHBIYEES 283,834 279,000 4,834
Os=2csEXNJAEH 29 283,834
= 236,530
= 47,304
ey o BAALSTAIG(21) 372,618 366,000 6,618
Jl| 310,509
< 62,109
308 AAIEHHSOIA 372,618 366,000 6,618
J| 310,509
< 62,109
01 HXNHHNBHELS 372,618 366,000 6,618
OXaMY X FAUALSHASY 372,618
J| 310,509
< 62,109
ey d2X FAMA2SI(21) 32,000 32,000 0
J| 32,000
307 glz2+ol & 32,000 32,000 0
J| 32,000
02 It A AHEE 32,000 32,000 0
OXANE ARA FAAZSA 32,000
J| 32,000
Ao o MBESAHY 496,400 424,000 72,400
307 21201 A 150,000 90,000 60,000
02 QB AAFEX 150,000 90,000 60,000
OZAXLULHEH ALY K& 150,000
308 A EHHSOIA 346,400 334,000 12,400
01 HXNHHNBHEELS 346,400 334,000 12,400
OXaMLdH 28 X 101,400
OX&E ArHl & dgels X& 245,000




SN BAFYY
PN

. Hze BAz HMUlA M3
S A E HE2ACMA = (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AN OtSls SsH ALY 301,752 352,152 50,400
308 AHAIEHHSOIA 301,752 301,752 0
01 AXSHBAELS 301,752 301,752 0
O0ISZ MIAE X&O0I 301,752
Aogazsp el NAMEZ(22)(HY) 69,412 69,412 0
bl 34,706
< 34,706
307 g1+l & 69,412 69,412 0
J| 34,706
= 34,706
05 Rzt E = 69,412 69,412 0
OdLLIE2ZE o2y NS 2 69,412
J| 34,706
< 34,706
AL Y2AIME AMMEZ(SD) 587,649 562,650 24,999
J| 489,707
< 97,942
308 XXIEHHSOIA 587,649 562,650 24,999
J| 489,707
< 97,942
01 AXHHILEES 587,649 562,650 24,999
OnNgY -8 SE2cAY 587,649
J| 489,707
< 97,942
224 QHHdEE M2 24(=21) 17,640 23,360 25,720
J| 17,640
308 A EHHSOIA 17,640 23,360 25,720
J| 17,640
01 AXNSHBLEES 17,640 23,360 25,720
OStg & & 2| & HUXZA 820 W=F 17,640
J| 17,640
ALEHE MY 2E(=221) 141,000 192,000 251,000
= 94,000
< 47,000
308 XXM SOIA 141,000 192,000 251,000
= 94,000
< 47,000
01 IXNHHBNEES 141,000 192,000 251,000
OXSAS LRI AlHAL 141,000
= 94,000
< 47,000
29 OIENFEA NEFEHH 29(21) 390,000 390,000 0
J| 195,000
< 195,000
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307 2Iz2to| & 390,000 390,000 0
J| 195,000
& 195,000

05 QIZ2tREF 2 390,000 390,000 0
OZ<S OIEN - ¥4 NRIEHH &9 390,000
J| 195,000
=} 195,000

XIOHotAl HIE 2R (=2D) 14,629,650 16,632,000 A 2,002,350
J| 13,933,000
& 696,650

308 XHXIGHH SO0l & 14,629,650 16,632,000 A 2,002,350
J| 13,933,000
& 696,650

01 IXHHNIMNEXS 14,629,650 16,632,000 A 2,002,350
OXIHHAMHEH S X 14,629,650
J| 13,933,000
= 696,650

ESAR- BBEA NFAL (D) 9,160 0 9,160
J| 8,142
o= 1,018

308 AMXISHMSOIA 9,160 0 9,160
J| 8,142
=} 1,018

01 AIXSHMEMNEX=Z 9,160 0 9,160
OZSXNHLC 2254 XNE 24 9,160
J| 8,142
& 1,018

X222 XN (=21) 631,605 609, 826 21,779
J| 526,337
o=t 105,268

308 XHXIEHSOIA 631,605 609, 826 21,779
J| 526,337
o=t 105,268

01 AIKISHHEMNEXZ 631,605 609, 826 21,779
OXOWXI=2eldl K& 631,605
J| 526,337
o= 105,268

ZAXMMHEH 2H(=21) 608,350 608,350 0
J| 425,845
= 182,505

307 QI2t0| ™ 608,350 608,350 0
J| 425,845
& 182,505

05 QIZtREZ 608,350 608,350 0
OZ9XEH 24 608,350
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 425,845
< 182,505
KOS HE & SSAY 72,480 104,540 A 32,060
308 AHAIEHHSOIA 72,480 104,540 A32,060
01 AXSHBAELS 72,480 104,540 A 32,060
ooXMaZz Nl 23 72,480
FAXMSeE 29 9,600 9,600 0
308 XXM SO0 A 9,600 9,600 0
01 IXNHHBNEES 9,600 9,600 0
OXIHEX 22z XN 9,600
KO-l ASHEAY 6,930 9,000 A 2,070
308 XXM SOIA 6,930 9,000 A 2,070
01 XML EES 6,930 9,000 A 2,070
OXIH=Q ABHE HHalZ X2l 2E8X& 6,930
SIHEEX g XN (=Z2) 1,267,585 1,267,585 0
J| 1,056,321
< 211,264
308 XX EHHSOIA 1,267,585 1,267,585 0
J| 1,056,321
< 211,264
TRAXNEHEHEEEXS 1,267,585 1,267,585 0
O3 H&EEI 2=Hl XA 1,267,585
J| 1,056,321
< 211,264
gEALAAG (=) 2,473,166 2,394,869 78,297
= 2,060,974
< 412,192
308 X EHH SOl 2,473,166 2,394,869 78,297
= 2,060,974
< 412,192
01 HIXNHHBNEES 2,473,166 2,394,869 78,297
oOgEH2d el At 2,473,166
= 2,060,974
< 412,192
MOtext 2ts At XT3 27,950 23,770 4,180
308 XXM SOIA 27,950 23,770 4,180
01 AXHHIYEES 27,950 23,770 4,180
o2s & 9gz=23 K& 27,950
F£o3 29 11,000 7,000 4,000
201 Let24d] 11,000 7,000 4,000
01 At 22l 3,000 3,000 0
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2N

SHE M
B AR (BABHDY)
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 12,000 11,400 600
01 = LHA YI 12,000 11,400 600
FN2E =LY 12,000
203 YR =&l 4,200 4,200 0
04 FN2ELSZTH| 4,200 4,200 0
4,200




